
Oppgave 29 – løsning: 
 
 
 
 

Dad:   A  B  C  D  E  F  G  
  A E:  1  -  -  -  A  -  - 
  B C:  1  1  B  -  A  -  - 
  D F:  1  1  B  1  A  D  - 
  G A:  2  1  B  1  A  D  A      Weight Balancing 
  D B:  2  D  B  3  A  D  A 
  C E:  D  D  B  6  A  D  A      Weight Balancing 
  F E:  D  D  B  6  A  D  A         (Ingenting skjer) 
  B F:  D  D  B  6  A  D  A         (Ingenting skjer) 
  D G:  D  D  B  6  A  D  A         (Ingenting skjer) 
 
 
 
 Resulterende skog:           D 
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                             E   G C 
 


